Hytrin discussion question

Abbott Laboratories makes a product called Hytrin.  Hytrin treats prostate disorders.  Three other drugs also treat prostate disorders, Minipress, Cardura and Flomax.  Abbott’s basic patent on Hytrin expired in 1996.  A number of other generic producers had filed the paperwork with the FDA for approval of a generic tablet version of Hytrin.  In 1995 Abbott filed a new patent for a capsule version of Hytrin.  Abbott stopped selling the tablet and only sold the capsule after 1996.  Geneva, a generic drug manufacturer, filed an application with the FDA for a capsule version and challenged Abbott’s patent.  The court issued a preliminary ruling that the patent was not valid in March 1998 and the FDA approved the application at that time.  This allowed Geneva to enter the market even though if the patent was eventually ruled valid by an appellate court, Geneva would be liable for Abbott’s lost profits from its entry.


In response to the threat of the generic entry, Abbott entered into an agreement with Geneva “settling” the patent dispute whereby Geneva agreed to recognize the validity of the patent and not to enter the market until a final appellate court ruling in return for a payment of $4.5 million per month.  This effectively stopped anyone else from entering also as, according to FDA rules, the first approved generic entrant gets six months exclusivity from the date the product is first marketed.  Hence until Geneva marketed its generic Hytrin, all other generics were precluded from entering.     


An antitrust suit was filed against Abbott and Geneva claiming that the agreement between Abbott and Geneva allowed Abbott to maintain a monopoly until generic entry.  

A.  Abbott argued in defense that they had no monopoly power.  What is monopoly power?  Abbott pointed out that they had only a 20 percent share of the market for the treatment of prostate problems.  It also presented evidence that the price of Hytrin was about the same on a treatment day basis as the other drugs, and that Hytrin’s price only increased when the other drugs’ prices increased.

What, if any, is the relevance of the evidence presented by Abbott?  What, if any, information would you add or look to in order to determine whether Abbott had market power?

B.  When Geneva eventually entered, they obtained 85% of the sales of branded and generic Hytrin at a price that was about half of the Hytrin price.  The price of Hytrin remained the same after generic entry.  
Can you suggest an economic explanation for why the Hytrin price does not change with generic entry?  Does the fact that the price of Hytrin did not change with generic entry indicate that Hytrin does not compete with the generic?
C.  Patents are granted in order to motivate increased innovation.  Is it economically efficient to allow Abbott to have a monopoly until and unless a Court rules the patent invalid?

Other Patent Issues.
1.  Abbott also makes a patented drug called Novir.  Novir was first marketed as a Protease Inhibitor (PI) taken in treating HIV infections.  It sold for about $30 for a 500 mg daily dose.  Researchers subsequently discovered that if small doses of Novir (~25mg) were used with other PIs the effectiveness was substantially increased.  Abbott responded by making a 25mg dosage form selling for $6 (400% increase compared to the previous per mg price), pulling the 500 mg form from the market, and coming out with their own “combined therapy drug” Kalentra.  Kalentra sells for about the same price as the competitors’ products (which must be “combined” by the patient with Novir.)  Kalentra has taken most of the sales of the competitors, accounting for about 80% of the sales of PIs.
i.  Is Abbott’s Kalentra a “tie-in.”

ii.  Since not all patients benefit from the combination therapy, why would Abbott sell only a combination product?

iii.  If Abbott was not allowed to combine the products, what would happen to the price of Novir and of Abbott’s uncombined “Kalentra” PI?

iv.  Is it efficient to allow Abbott to sell the combined product?

2.  A popular magazine (of dubious reputation) recently reported that Exxon-Mobil had developed a form of a carburetor that would separate hydrogen from oxygen allowing motor vehicles to run on water with the only emission being oxygen.  Because of the threat to the value of Exxon-Mobil’s vast petroleum reserves and refining and distribution assets specific to the use of gasoline, the magazine reported that Exxon-Mobil “suppressed” the invention, destroying all evidence of its existence.

Does this “story” make economic sense? 
3.  If two inventors simultaneously discover alternative ways of generating substantial economic benefits (e.g., “curing” cancer), should they be allowed to combine their patents?  (Consider the impact on innovation incentives and consumer welfare.)

